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JEf K & OUT IN ' GR HDCP NET JEfiL K% OUT IN GR HDCP NET JEfiL K4 OUT IN ' GR HDCP NET
Hlﬁ B & 4+ 43 43 8 168 69.2 61 32 I BB 50 48 98 228 | 752 1208 H & ¥ 56 52 108 276 80.4
2 JIl & B B 46 43 89 192 698 62 = B B A 40 39 79 36 754 122 # # B FE 46 48 94 132 | 80.8
3 B B % 46 44 90 192 708 M: B OEARTF 41 38 79 36 | 754 123 A 5T  F & 53 47 100 192 @ 80.8
4 A F F K 43 46 89 18.0 @ 71.0 64 £ A& & @ 40 45 85 96 754 124 & & 2 — 54 52 106 252 @ 80.8
5 b B £ f 50 45 95 240 710 65 = kK & 44 40 84 84 756 125 | —  #f & 60 57 117 36.0 81.0
6 & B E 42 40 82 108 71.2 66 1L O F F 49 47 96 204 756 126 @ 2 42 47 1 50 97 156 814
7 thHE HABE 46 42 88 168 712 67 & A & R 54 54 108 324 756 127 4% )i & F 60 61 121 396 @ 8l.4
8 T H ®E{x 48 40 88 168 T71.2 68 L K % 44 45 89 132 758 128 8 & % FE 52 50 102 204 @ 81.6
9 M H B # 45 43 88 168  71.2 69 & 7 F B 44 44 88 12.0 76.0 129 /N JIl E@mA 59 55 114 324 816
10 & 18 %= 43 51 94 228 712 0 F 8 % % 42 45 87 108 | 762 130 f & B s 56 57 113 312 818
11 A % B s 45 48 93 216 714 71 R B B # 47 46 93  16.8 | 76.2 131 = M| B2 69 62 131 49.2 | 81.8
12 # %8 JE ¥ 42 38 80 84 716 72 ® %% B ZE 57 48 105 288 | 76.2 132 F1 ## B #2 54 52 106 240 @ 82.0
13 % b I & 36 37 73 12 718 73 % M F — 49 43 92 156 76.4 13348 & % # 55 38 93 108 822
14 & B F # 38 41 79 72 718 74 0 F = £ 50 48 98 216 764 134 & B 8 — 56 55 111 288 822
15 & R iz 48 | 40 88 | 156 724 7% & B Bl F 48 50 98 216 76.4 135 3 L 18 A 58 49 107 24.0 @ 83.0
16 3 B B — 40 48 88 156 724 76 M %& — 8 53 51 104 276 764 136 ¥ A % = 52 55 107 240 83.0
17 b F & B 47 47 94 216 @ T24 77 32 )l & % 54 56 110 33.6 76.4 137 N8 A X £ 60 58 118 348  83.2
18 AT BF #% B 49 45 94 216 724 78 K F & A 46 45 91 144  76.6 138 2 & % @ 52 47 99 156 834
19 /N & % BB 42 | 39 81 | 8.4 72.6 79 F B 84 52 45 97 204  76.6 139 7 M BB 2 53 | 55 108 | 24.0 | 84.0
20 B8 & &~ 38 43 81 84 726 80 E & T 52 | 51 103 26.4 @ 76.6 140 ¢ A& 7% ff 63 51 114 30.0 84.0
21 Kk = E OB 40 41 81 84 726 81 7 A& B #2 56 47 103 264  76.6 141 & % B 64 67 131 4658 842
22 E M 4 — 48 45 93 204 726 82 BH f{t#HFZE 51 45 96 192 768 142 & 8% & B 46 60 106 216 @ 84.4
23 T M = 44 42 86 132 728 83 & M S # 52 50 102 252 76.8 143 £ B # 4t 58 46 104 192 848
24 A5 B @ B 51 41 92 192 728 84 E H 2 50 45 95 180 77.0 144 % N A F 58 50 108 22.8 852
25 miE © F & 51 47 98 252 728 85 M B & F 50 45 95 18.0 77.0 145 & # = X 66 58 124 384 856
26 £ H B B 45 40 85 120 @ 73.0 86 7 MO % X 43 45 83 108 | 77.2 146 #% AN H = 57 57 114 276 86.4
27 ¥ B F 4 47 49 96 228 732 87 1B A B i AT 47 94 168 | T7.2 147 B M = 60 67 127 39.6 874
28 M ¥ % = 46 43 89 156 734 88 H M F# — 49 45 94 168 | T77.2 148 & x H » Y 68 62 130 420 880
29 9 ®  E — 40 42 82 84 736 89 LA WX BB 46 40 8 84 776 149 E # % IE 63 56 119 288  90.2
30 & s M % 37 38 75 12 738 90 T B & E 47T 45 92 144 776

31 B B B T 44 37 81 72 738 91 A M @ {= 47 45 92 144 776

32 KW # 42 45 87 132 738 92 @ % 50 48 98 204 776

33 % b5 3 & 42 38 80 6.0 @ 740 93 [ & fR %k 56 54 110 324 | 77.6

34 F B B E 45 47 92 18.0 @ 74.0 9% N B ¥ F 44 41 8 T2 | 7718

35 M KB 5 44 48 92 180 | 74.0 95 A & %= " 46 50 96 18.0 78.0

36 A WwAHY 47 45 92 180 740 9% 1 &R B ® 60 48 108 30.0 78.0

37 % B B A 50 48 98 240 740 97 BR BF T = 66 48 114 36.0 78.0

38 B M B #2 51 47 98 240 740 98 L O Mg 3, 58 55 113 348 | 782

39 8 # @ 55 55 110 36.0 74.0 9 A £ =Z=F 57 56 113 348 | 782

40 sk F IFE ¥ 43 42 85 108 742 100 /@ & % + 43 45 88 9.6 784

41 % M| & 48 43 91 168 742 100 AR H EERE 48 52 100 216 784

42 A #H B9 57 52 109 348 742 102 J& 45 55 100 21.6 78.4

43 #F N E — 44 46 90 156 744 103 #h JII & F 46 53 99 204 786 [LF 14 ZRDER]

4 K OHT i 50 46 96 @ 21.6 @ 744 104 &2 A& H — 59 58 117 384 78.6 B, K % OUT IN GR HDCP NET
45 T £ % 50 46 96 216 744 105 B &P Z 47 45 92 132 788 1 5 H ®fE 48 40 88 168  71.2
46 2 JIl = = 42 47T 89 144 746 106 A M % 36 43 79 00  79.0 2 K= E M 40 41 81 84 726
47 My S = BL 44 45 89 144 746 107 W & % & 54 61 115 36.0 79.0 3 A waha Y 47T 45 92 180 740
48 FH K B 47 | 42 89 144  T46 108 4 F = By 41 49 90 10.8 | 79.2

49 B F BB T 50 45 95 204 746 109 B ¥ & A 52 55 107 27.6 79.4

50 /8 B ¥ B 55 52 107 324 746 110 /R M # & 53 47 100 204 796

51 fh 7 & = 41 41 82 72 | 748 111 fh JII % & 50 56 106 264 @ 79.6 [~ =7 DER)

52 /0 JIl A0 & 45 43 88 132 748 112 A #8 7% #t 55 51 106 264  79.6 B, K % OUT IN GR HDCP NET
53 My A&  # 8, 45 43 88 132 748 113 & # X% B8 53 53 106 264  79.6 1 b F & B 47 47 94 216 724
54 7 & B & 44 44 88 132 748 114 $% K = 62 56 118 384 796 2 A ¥ #% #% 49 45 94 216 724
55 = £ ¥8 %= 46 42 88 132 748 115 # % — T 46 41 87 72 798 3 M % BB 42 39 81 84 726
56 T @ W A 61 57 118 432 748 116 1 & 3 i 51 48 99 192 79.8

57 B AL B 42 45 87 120 750 117 & $ & 3 49 50 99 192 79.8

58 3 A £ F 45 48 93 180  75.0 118 £ # ¥ & 56 54 110 30.0 80.0

59 # W = B 47 52 99 240 @ 75.0 119 B # # F 59 56 115 348 802

60 X [E FH = BB 45 47 92 168 752 120 B % #% 60 55 115 348 80.2 BEEHVY ) —HEE




